20198 & =0l &t

o

FIZAESESH A

2H: BESXD
Hz: HIIS I
ol B BH(BPIIZAMLSHE) (sl &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A =X 10,477,491 5,746,535 4,730,956
= 170,000
= 69,000
= 10,238,491
HoI2 A3 8,298,716 3,982,690 4,316,026
= 170,000
o= 69,000
= 8,059,716
HA HYH(SHAIZANLEELESAH) 864,856 719,980 144,876
= 170,000
o 69,000
= 625,856
HIIE Mel X 275,380 280,980 A5,600
201 et 9| 47,280 62,880 A 15,600
01 AL 2tel | 44,180 59,780 A 15,600
Oger4gH| 27,500
— MDA HONE HUE HX
100, 000*%100H S © «5JH & 5,000
—ME=EE IS EE2=2
2,000& x1,5000H 3,000
—HJIEHS 22AXe 25 2,000
— MYD| S EHED SXAHE 2HE
150, 000 4004 2 6,000
—&dFRH=sY FIE X 6,000
— T2l MRS 200,000 = 107K 2,000
—HASANEY AMEES 22 3,000
— M BHEXNE otF tha 42l
100, 000%504 &~ 500
OSHI(HIISEx) 8,000& x10¥ 30 2,400
OMEEE 25 2 Xd| 800,000*153] 12,000
O™ = HEBA SIEX 7Y 2,000
OSASFHIES dUEI s SFA&xE
70,000 x4H 280
02 22244l 3,100 3,100 0
(@) PIE=3=2=11:] 2,500
OMYJl HiEXE Mot AS223 600
206 T 24 152,100 152, 100 0
01 X2 H| 152,100 152,100 0
oMglssE M 100,000
O~ 2HA 2B 250,000& x123] 3,000
OSAZSRHIIE E2ES HE
250,000 x258+ A 6,250
OSAZ2HIIS dg24+12)(¥AE)
40, 000& *300H 12,000




A== a9(3H) - NEAY - BaS ﬁlf& HDS2
OHAMNES =HE 200,000 10K 2,000
onMgg 288 500,000& *20JH 10,000
OIZ20tH 2,000 x500H4 1,000
OMEE =E2/6% 22 0HH(40kg,500k8 )
6,000 *1,0000H 6,000
OME2HS HE MHS(aE S)
35,000 x701 2,450
OMEES ¢=)| ZTH¥E2 3,000
OUWEZE A2 ME 2L
20,000& 1024 *x23| 400
OoMeg Hegsse #¢ 2002 30, 000 0H 6,000
401 Al HI YL 2 0HHI 76,000 56,000 20,000
01 A& HI 76,000 56,000 20,000
OE¥SIl &= 02t &x
5,000,000& 24 4~ 10,000
OHIE XY adlx=T AlE &X 6,000
OMAHIIMEXNE SSE &X
5,000, 000& =100 & 50,000
OMHD| BHEXE Ea Y 223849 10,000
MEEE =8 & HIISE4D B4 45,000 40,000 5,000
301 dEtEAZ 45,000 40,000 5,000
12 JIEtE2 &= 45,000 40,000 5,000
onNgss =&8&8d=a 20,000
OR4add MHeEessS 242 12,000
Osadly =3 2432 13,000
HII2 2cs 8% 203,333 0 203,333
== 61,000
2 142,333
101 2121 4| 33,333 0 33,333
< 10,000
= 23,333
04 JIZtHIZ22XNSE S 33,333 0 33,333
OMEHII S 22l tHE S0IAIY (2Y) 33,333
o= 10,000
= 23,333
201 Bt A H| 60,000 0 60,000
< 18,000
= 42,000
01 AP 2t2l bl 60,000 0 60,000
Og9sHHY =1 &dl Xt 60,000
< 18,000
= 42,000
206 M = Hl 45,000 0 45,000
= 13,500




2N

HE: HOIS XA
S HA HNH(SHIZANLESESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

o 31,500

01 X2 H| 45,000 0 45,000
OMEEE 47 L B3 A 5,002 +9,0007H 45,000
= 13,500
= 31,500

401 Al HI L 2 0HHI 65,000 0 65,000
=} 19,500
= 45,500

01 Al&H| 65,000 0 65,000
OgsHIIE =AM MelAg /e el 65,000
& 19,500
= 45,500

SEMHY =HE A= 64,000 64,000 0
= 8,000
< 8,000
= 48,000

301 LBt A= 64,000 64,000 0
= 8,000
< 8,000
= 48,000

12 JIEtE2 A= 64,000 64,000 0
QHBlY =HEA 80 *800,000kg 64,000
= 8,000
o= 8,000
= 48,000

ol&Eot MADl HshArY 197,143 220,000 N22,857
= 138,000
= 59,143

101 21 214| 52,000 58,000 A 6,000
= 36,400
= 15,600

04 JIZtHIZ22XNSESES 52,000 58,000 A 6,000
Odl7KY EKMY Il £=H oAy 52,000
2 36,400
= 15,600

201 &Bt24Ay| 16,000 22,000 A 6,000
= 11,200
= 4,800

01 AP 2t 2| H| 16,000 22,000 A 6,000
Odt2/Y ERMAHI =HXNE Xt 10,000
= 7,000
= 3,000
Odt2 /Y ERMYHI =HES 6,000
= 4,200
= 1,800

401 Al&2HIL 201 129,143 140,000 A 10,857




SN BE=XD
J

3 o

tel: A HIY(BZIZAMNLESEIA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
= 90,400
s 38,743
01 A& HI 129,143 140,000 A 10,857
Oot2R e Mgd| A=Kl (800&) 129,143
2 90,400
[ia 38,743
=S=s&GE &= A 80,000 115,000 235,000
= 24,000
2 56,000
401 AIEHI L 201 80,000 115,000 A 35,000
= 24,000
= 56,000
01 A& HI 80,000 115,000 A 35,000
Od=HH Y &Hot& 5,000,000 *16H 2~ 80,000
= 24,000
s 56,000
HII2 MelAld 2S(SHIIZANEEL ) 7,433,860 3,262,710 4,171,150
HIOISX2IAE 22 1,539,060 1,091,510 447,550
201 Lt 2| 581,260 535,710 45,550
01 At 22l 100,410 116,610 A 16,200
Oger==EH| 100,410
—&dEs EIM2INES)
340,000& *123] *30H 2 12,240
—Es= 227 ESs)
340,000& *123] 10 & 4,080
— XI5t (2404 & =) 180,000& *43| 44 2 2,880
— o= (250Es) 320,000& *43] 204 A 2,560
—OHEZ HI2U EINZA(1IHL) 1,000
—HEd EL2EE A
4,000,000% *2J4 & 8,000
—OHEZ MHEIHL S2HA
400,000 *20H A 800
— SASMYUIIHEIAE EIIZHA 2,500
—MEHIES EH2UAE EIISBAM 2,500
—AZSHEANE EIIZA 16,300
—EABAME 2] Il EY 2,500
—2=¢s ANEE 550
— &) 8 dEz 400,000+ 12& 4,800
—HEd 2L EH 225,000+ 128 2,700
—OHE® ottt & &l 2,000
—HEHE HZLEH & =4 5,000
—HEdE SEE&Y =40 X
625,000%42 x12& 30,000
02 =24l 480,850 419,100 61,750




SN B#E=XD
=L R I L
el EHIIZ2 HelAs

e

2 (SZI=ANESESIA)

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O=2222 <2 MA 366,100
—dJ|or™ e AF 2Y 50,000
— &I otM 2 AbH] 300,000& x123] 3,600
— & -olx=E AER2 1,000,000& x12& 12,000
—EAHNEREE = 250,000 *23| 500
—HEEANEW 22 (BHA)
25,000,000& ~12& 300,000
OA& & HI KX Y| 114,750
—HEE A2 X bl 5,000,000& #3304 A~ 15,000
- NESSHEE XY 5,000
— &= HelAd Xl 5,000
—SAE MHelAd SNl 10,000
—HIIS2d dMEH S 22 3,000
—MBTE M 2lAlE KXl 15,000
—HEHII=E HEFE2 15& *3,650, 000kg 54,750
—ol&olP2MY I HEFEE2
10& *700, 000kg 7,000
206 M = dl 5,800 5,800 0
01 X2 Hl 5,800 5,800 0
O & d9xE 550,000& 65 3,300
ONg & JtAZE 2 50,000& *20H 1,000
OHEXNE A5 - FHHAHHM , 22HH
100,000& * 158 A 1,500
207 A S OH 4| 52,000 0 52,000
01 A2 E 49| 52,000 0 52,000
OMETHII2S EXHEALE /AItaEgd 10,000
OSAZXH2ANE |FIMEESY 20,000
OMNESZSSHEE MEAH HEY HAISH 22,000
401 Al HI L 2T 900,000 550,000 350,000
01 Al&H| 900,000 550,000 350,000
OHJIZ | KXl 500,000
OSAMZXEANE “FE8H HEZ2A 400,000
HAXNE A 2 X2 214,800 467,200 A 252,400
201 Bt A H| 214,800 212,400 2,400
02 3524l 214,800 212,400 2,400
OFAXE 22 450,000& =180 12& 97,200
OFAXEY X B 450,000 *18CH*12& 97,200
O=EZ2 2N /8 600,000 »2CH x12& 14,400
Ooz24d 8% 500,000& x12& 6,000
HIIE M2lAlE 2I2t & 1,878,000 1,704,000 174,000
307 QI2t01 ™ 1,878,000 1,704,000 174,000




SN BA=XD
Ha: HOl2 KR

Sl HIIZ2 HeAE SE(HAINEZALSEN) (ol @)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
05 RIZHRI & 3 1,878,000 1,704,000 174,000
OSAERHIIE =8 ,2¢8 ¥ MeANE 29
el 895,000
OMEHIIS dXelAE 29,22 /A 983,000
MEEHIIE AUAE Z2AS FA 3,802,000 0 3,802,000
308 XXIEtH S0l A 2,200,000 0 2,200,000
07 XX SHM2ARE S 2,200,000 0 2,200,000
O22UAE =8HIYE FUXEB 2,200,000
403 UHXISHE X201 H 1,602,000 0 1,602,000
02 SO 2SOlCHet A2 X 2 EF A I 1,602,000 0 1,602,000
Ogt=z&F = 2AE ArZ I 1,602,000
HE2H L (BZ=X1) 2,178,775 1,763,845 414,930
Ol 2HH|(BHE I ZAIEEYSIA) 2,178,775 1,763,845 414,930
A zgate o829 2,178,775 1,763,845 414,930
101 1A bl 2,178,775 1,763,845 414,930
03 RIHAZZ N E =+ 1,919,775 1,624,845 294,930
OJ123 2,500,000+29H »12& 870,000
OF U= 398,750
A= =1 2,500,000& 29K »43| x50% 145,000
- &2+ 2,500,000 *29H *23| *50% 72,500
— M eyl 2,500,000 x29F *53| *50% 181,250
OFSELES=, 90,480
—EY 80,0003 x29H 123 27,840
—ExgRE 120,000& »29H » 128 41,760
—Ag+< 60,0003 x29H 123 20,880
OXEStHIBEX Y (11SsHM)
267,000& x5 +4 3| 5,340
O=hz22Y 454,720
— A2 2
12,0003 x29H x15A| 2t* 128 62,640
—R5e2fE 120,000 x29H «8 L x 12 334,080
RSN S=E iV Ea =, 100,000& »29H 20 58,000
O=cl =4t 87,000
— ZE S| 2,500,000%29Y *23| *60% 87,000
O 04l 200,000 29X 5,800
o1l =l 7,685
— &3t 50,0003 x29Y x23| 2,900
— &Y= 50,000 x29H »23| 2,900
— e e 40,0003 x294H 1,160
— M 29 25,0003 x29H 725
04 JIZHHZ2Z2XNSE S+ 259,000 139,000 120,000
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N = 0l & At & M A

20198 & 20 A BHAI|ZAILEELESH AAM
2N Aol AIE A
NI Gl 22
SR Sl HEH L SX(BHIZANLELESH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Aol AP A 16,772,492 17,684,086 A 911,594
= 6,985,000
g 433,000
& 1,289,428
= 8,065,064
ote=& &2 16,772,492 17,684,086 A911,594
= 6,985,000
g 433,000
& 1,289,428
= 8,065,064
o2 NAH & SX(SHIZAILELESH) 3,316,000 2,340,000 976,000
= 1,453,000
= 1,863,000
ol HHl &« =4 410,000 300,000 110,000
401 Al HI L 2 0HHI 410,000 300,000 110,000
01 Al& H| 410,000 300,000 110,000
Oot=aH dEH ¥ S22 410,000
gl "ol &Y 2,906,000 1,940,000 966,000
= 1,453,000
= 1,453,000
401 AIEHIZ 201 Y| 2,906,000 1,940,000 966,000
= 1,453,000
= 1,453,000
01 Al&H| 2,756,000 1,785,000 971,000
OkLZsotx=2=28H| 2,756,000
= 1,378,000
= 1,378,000
02 2elbl 150,000 150,000 0
Ok ==&z HH| 150,000
= 75,000
= 75,000
SOHE0ISota=SHU (HIIZANELELESH) 7,902,857 9,504,000 N 1,601,143
= 5,532,000
o= 1,185,428
= 1,185,429
A== (E=) ol=Hel & 1,634,286 2,043,000 N408,714
= 1,144,000
o= 245,143
= 245,143
401 Al HI L 2 0HHI 1,634,286 2,043,000 N408,714
= 1,144,000
o= 245,143
= 245,143
01 Al&H| 1,234,286 1,838,000 AB603,714
O o==(100—185m /), E=(70m /L)
ot & 1,234,286




2N
X ZH -
L= B

el

2
o
ij
1>
H
0
==
@..
oy
o
2]
>
x
Jm
g
ton
=

Off &t 24

=

i
2

02 22l
OZoilol==(100—>185m /), EE(70m /L)

Ste=xel

Mo

Mo H

864,000
185,143
185,143

400,000

400,000
280,000
60,000
60,000

200,

000

200,000

i

>
ny
tol
[=]
o
Qj
4>
H

MW

2,232,857
1,563,000
334,928
334,929

2,976,

000

AT43,143

401 AIEHIZ 2 I

MW

2,232,857
1,563,000
334,928
334,929

2,976,

000

AT43,143

01 A& dl
O=d(50m /L),

NG
=}

23 (115m /)0t S5t el

J

0
o

b

02 a]

Ox=&(s0m /),

X

235 (115m /)0t S5t el

Mo A

Mo H

2,032,857

2,032,857

1,423,000
304,928
304,929

200,000

200,000
140,000
30,000
30,000

2,721,

250,

000

000

A 688, 143

/50,000

= e EE

HH

4,035,714
2,825,000
605,357
605,357

4,485,

000

N 449,286

401 AIEHIZ 2 I

MR

4,035,714
2,825,000
605,357
605,357

4,485,

000

N 449,286

01 AlZ dl

OODIFDA =S ESHF M AN St 2l & (1001)

Mo

4,035,714

,035,714
2,825,000
605,357
605,357

~

4,080,

000

N44,286

Mo

5,553,635
433,000
104,000

5,016,635

5,840,

086

A 286,451

2,050,479

235,269

388,599

.990

8,609




2N
X ZH -
L= B

el

=T 2el
BIZANE 2el - 2 (BZIEANELSESAH)

CHE SR (B) - HRAY - BES Of & o8 il
04 JIZHHZ2XREES 388,599
O33dt=XelAld 2el2dg 388,599
—33ot=XelAld SZ2EE AH| 42,100
—330t=HMelAlE 2e2F A
37,000,000& x5 185,000
-2k ¥ Myl EsHelE 2229 oA
gl 32,600,000 »2H 65,200
— A2 R (=)
11, 1103 x8H »35A| 2t 128 37,330
—5d=4 88,8803 x8H 202! 14,221
— 83 Ws0HH 100,000 8% »3& 2,400
—A&EZ22 L= 150,000& 8 «3& 3,600
—ot=k 2¢ & BH LtA2:F U
20,0003 »8H 302! 4,800
—ot=k H&Z2S =S&Hl 8,000 *8H «50 3,200
—=UH=RE= 292,300,000& *4.5% 13,154
—HLBERES 292,300,000& *3.23% 9,442
—NEPERY3 292,300,000& *1.5% 4,385
—AIRLEEREES 9,442,000 *7.38% 697
—MTHEEE 292,300,000& *1.05% 3,070
201 €24l 1,078,860
01 At 22l 76,840
Oget=gH| 20,000
O=ZTNSE = Z M 4,000,000 *20H 2 8,000
O=ETMSE S Z AL JI=X 28] (200 2) 4,000
Odt=Hel& AETA 24z 20,000
Odt=Hel& ZBetAIAE AIEZ
180,000& 70 A+ 123 15,120
Ost=H™el&d & clAdl 700,000& =123/ 8,400
OZI=ZANE 229 29 110,000 ~123] 1,320
02 =24l 1,002,020
O332= % HAl 690,020
—ol=H2E dIIRS 50,000,000& x12& 600,000
— oMl 4+=EL= 300,000& 122 3,600
—dJjotE e = 1,500,000 «12& 18,000
—ot=E &3l 2,900
—SEZA HY AEZ
70,0003 «784 =122 65,520
O=&S =Xzl 2,500,000& «12& 30,000
O&E+=Xcld HII=HlHI
1,000,000 «12& 12,000
OANEEH SAH(AESZMH L BAAY]) 30,000
Odt==el Al A& X™eltl 120,000& *2,000= 240,000




2N

g otk 2
Sl BEIZAL B2l 2Y(HHIZALSHN) (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 M= Hl 120,720 102,000 18,720
01 T2l 120,720 102,000 18,720
O#= Aga A2 7Y 5,000,0008 122 60,000
Odt+zX g4+H2l %8 7
3,420,000& x12& 41,040
OFUHMEANE 435 ¢ 120=+164,000& 19,680
401 AIEHI L 2 CHEI 432,300 293,000 139,300
01 A& Bl 432,300 293,000 139,300
OXot=HSI dR8Ex L B4 (AF20M/8
25000) (210,000 & 2074 )+( 110, 000& x50 ) 9,700
Odt=HelAld JHE=Hl 120,000
OskxMld HE=H 50,000
O&F&+=HMel& HE=H 30,000
Odt=XelAl8 Jlsded e HES 222,600
—0ls® ot=XMeld 2 7L 222,600
405 XHoHF S HI 30,000 30,000 0
01 et ESFH S 30,000 30,000 0
Ost=HelAld XM ¢ 20,000
O=Z& &84 487 7¢ 10,000
BHIZANE B8Y 337,156 190,876 146,280
207 Ao 337,156 190,876 146,280
01 2284 337,156 190,876 146,280
O33d5t=HMelAld dgac 30,000
O33dt=XelAld D=t 277,156
Ozteclthd JAJey &4 30,000
SEIIZANE AEH2E 2,000,000 1,900,000 100,000
307 gl2tol & 2,000,000 1,900,000 100,000
05 BIZHRI & 3 2,000,000 1,900,000 100,000
O8dII=A4 2elHe 2,000,000
SZIIE=AME A 300,000 470,000 A 170,000
401 Al HI L 2 THHI 300,000 400,000 100,000
01 A& HI 300,000 400,000 A 100,000
Odt=Held N 300,000
SHAE MEStA =& 866,000 1,464,000 A 598,000
s 433,000
< 104,000
s 329,000
401 AIEHI L 2 CHYI 866,000 1,464,000 A 598,000
ras 433,000
< 104,000
e 329,000




2N
X ZH -
L= B

el

JI=ANE 2el - 2H(

o

=Pl

P

ANES

g
fon
=

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o gﬁ‘&i HRE2

01 Al&H| 566,000 1,464,000 A 898,000
Ot MEfH = 566,000
Fag 283,000
o= 68,000
= 215,000

02 2teld| 300,000 0 300,000
Ot MEfH=A 300,000
Fag 150,000
& 36,000
= 114,000




